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6. Whatis the slope of the line tangent to the graph of f at (a,f(a))?

Which of the following is the correct formula for the slope of the tangent line?

f(b) + f(t

A, My, = lim oot )
{—a

A - fh-fa)

U B, Mgy = lIm ===
t—+a

) + (@)

1 e, my, = lim -2
t—a

f(b) - (1)

) D, Myg, = lim —
t—a



7 The position of an object moving along a line is given by the function s(t) = - 3t + 9t Find the average velocity of the object
over the following intervals.

(@ [1.7] (b) [1, 6]
{c}[1. 5] (d) [1, 1 + h] where h >0 is any real number.

{a) The average velacity of the object over the interval [1, 7] is, -/ ,"' J
{b} The average velocity of the object over the interval [1, 6] is —_f I
(¢} The average velocity of the abject over the interval [1, 5] is o ﬂ ;

(d) The average \.:eloiity o_f thfe o.bject ow._rer the in_tei:\ial [1.1+ h] is _-}h -+ 3 .
@ ¥)= ~3¢rse L1, 7]
1 71~ $c)
(7)—Ct) -
()¢ 902)) — (3% (1))
(7] ()
(D)) + 7(n) — (=31 +5(0)
(7) ~C0)

(o) 2 3 = (S
7) (1)

(o7 £68) =L =277)

(7) (1)

(~7%) —(6)
/=N

o 2

7/

A

6




SE) = —3¢ 4 7¢ 0/ ¢7
S'6) — Sl
(6)—( 1)

(~3(6)r 9(6)) ~( —'_3__(_1_)_32(_0_) )
6) -V
(F306)(6) +a(6)) = (=3(DD +HW
©) —(1)
(306) + 3¢9) = (3 (0+7CD)
(&) —(1)
(~/of+s¥) —(3€7 _
(67~ (1)
(5% =(6) .
T
—Y—6€
Pk
61

——
.

— 4O

mree————t

5- -




S = —3€+9
= ¢
S5/ =3 (1) 3
&)—C1)
(=305)" +5¢e)) = (=30 TD)
&) — (1) -

(3008 £3(5) = (=3(0)(1) +90)
&) —(1 -

W .
(/)
[(~75+%y) — o S
&) —(1
39 =(9)
c)—C1)

—30-6




S - —3¢%4 74 [i) 4]
Strea) = S0 ’
(+4) — (1)
(3 cemtrg(res)) = (=3¢ 0 )

(4 —(1)
(:iii’i’ﬁﬂféJ_n‘;jﬁj_/\))::fi-@)ﬁ’)— +9(0) .

fa) })):(jmjz@

(~3(1+ Lat (e )t 3keh
A h) Y () —

(3 (1t2hh" ) F IO
(4 1

fﬂlﬁ&r&%&ﬁﬂ:ﬁfﬂr

B 1+ h) ()

(~3h"= 6h =3 ;ﬂiﬁ‘l,:(ﬁf

(%) -() /




8. For the position function s(ty= -1 6t + 100t, complete the following table with the appropriate average velacities. Then
rmake a conjecture about the value of the instantaneous velocity at t = 1,

Mz [1, 2] {1, 1.5] (1, 1.1) [, 1.01] (1, 1.001] /

Interval
Average

Velocity — — — — —

Complete the fallowing table.

Time

Interval n.2 [1.1.5) [1, 1.1] [, 1.01) [1, 1.001]
Average _ - _ :
Velocity "—..5 L 6o 66 . ¢f G7e 37( 67.% Yy

(Type exacl answers. Type integers or decimals.)

The value of the instantaneous velocity att = 1 is 6 5 .

(Round to the nearest integer as needed.)

A - £ (~152)" s rae ))— K/e(/) o)) @

z—7

At s)—FC {/G(fa 9 —//w//r))—-(/((/) 7/w(D) O
LS — / [es™— ¢

Att) =40 _ (Creetiysmtn) —( o C 120002
fif—{ lof~ |

Hteo 1)~ 4// (4 (101)5 #704(o1)) ~/-f6(r)-f/w(r))
~foi—y (0] —

Flt0uD)=rC0 (A (Lan)ios .41)) (s e o)
/0T — | e e

7‘;{( Lfg/% wﬁ” 44/1-& /‘757‘4'-17(‘{'4{11«.) f/l‘.’/uoé o/ /I/r_-/

(&
. ~_ i




9 Forthe function f(x) = 8x° - x, make a table of siopes of secant lines and make a conjecture about the slope of the tangent
fine at x=1,

Complete the table.

(Round the final answer to three decimal places as needed. Round all intermediate values to four decimal places as /

needed.) ) | /

Interval __Slope of secant line
[.2] | SS.000

[1, 1.5) 17,000
OSETR X757 R
T, 1.01] 23« TP |

[1, 1.001) , 232000

An accurate conjecture for the slope of the tangentline at x=1is 1 )

(Round to the nearest integer as needed )

fu-A) . (#09 ) - /zm ~m)<;s v
—/ 2 — _Q

FOLs)- /(r) (7(“‘) (/f)) ( 7 —(‘))Qo/)
o5~/ [0 —(

ArN=F - _(Fen” r/?) (50 y
/ol — | A

l/(/,a/)——y///) (i(/ol) —(Lot) ) — (7 (0=
o)~/ /”/—/

M ﬁ(/ao/) (/auf)) (f(f)

ol —1 fobo) —

(g aCurte Covfectert )4 A S/’@»
F4L Feaset Y A X< 5 =




10,

2

x+6
x2-36
x+6 °

Let f{x)=

lim
X=s =6

{a) Caleulate f(x) for each value of x in the foilowing table. (b} Make a conjecture about the value of

(a} Calculate f(x) for each value of x in the following table.

X -59 = 5.85 = 5,999 =5.9999
) g i B 10 A B (P A R TR K
X -6.1 ~6.01 -6.001 = 6.0001
f(x);‘i:zs. —f2 ([ Aol |=(7.00] |=]L.6% &}
{Type an integer or decimal rounded to four decimal places as neaded.)
{b) Make a conjecture about the value of lim i:;ﬁ

2
lim
-6 x+6

X -36_

Xx— =6

Lo [’ ?____| (Type an integer or a decimal.)



@é /) - ¥ 36
ng

$.9) = (5?) —3¢ ~ ~
H=s.9) = o7 g | _//.7 »
e

fesss) « Ga=ss = Guss

599 + 6

/[(-5;???): (5:975) =2 ¢ <__//‘?§3 Y

(=.977) + ¢

L5 5797 = |
7/(~S’. co95) = (55791)-3¢C ;<.._//, s559 3

(‘-5;777?) oA

/%’G‘./) - [—_6‘,)2‘_(;“’ -{:—(2,/ )

(. /) 6 -
A = G2 (s
(w0l )= 36
~6.gul) = L
/( ot (~6.00f) + 6 </Zo00/ )
(600#) (—¢. oowi —76 —:,_;_
/@ _ (=69() T 6 2,000 )
/ . )/:2% H‘“‘*-;,.i . o e —

_‘_\_‘_‘_‘_"_‘_\"







1—-49
T

a. Make two tables, one showing the values of g for t = 48.9, 48.99, and 48.989 and one showing values of g fort=49.1,
49,01, and 49.001.

Let g{t) =

t=-4%9
b. Make a conjecture about the value of lim .
1—ag V1 =7
a. Make a table showing the values of g for t = 48.9, 48.98, and 48.999. {/
t 48.9 48,99 48.999

o 73,9924 1[5. 7795 [ (5%, 79%¢

(Round to four decimal places.)

Make 2 table showing the values of g for t=49.1, 49.01, and 48.001.

t 491 49.01 48.001
9 14,0071 |[Y. 0007 [ /% 0001

{Round to four decimal places.)

b. Make a conjecture about the value of lim . Select the correct choice below and fill in any answer boxes in your
-4yt~

choice.

t-49
A, fim = / ‘/ {Simplify your answer.)
tmagft =7 T

(O B. The limit does not exist.



/ . €«
) 5 =

j‘(ﬁ’i-?)—: fé%—-j‘; :’OUW%ML (Cfﬁz,q//

9(% 7) lgj;r:—? - :0;%/7;%“5\/3 C(?ﬁ’s

J(48.771) - MZI ;’::;7‘ :off/’qm;j.;, Q% ‘7_?3 915
S HD= g ot SR 22
j( YGool) = W: 90.007{/krzq727v1 — (/¢ C/@i;//

00 o)
4907 091 = L/? = L 0e7/v 2 quw/\
j( s 0wl = Ul — I

fq-/v\\

it
i Lﬁ? -
6~7<ﬁ (6~ vee _ etk U7 <

é’"’”’“ (v =7 (/-*1“7
[ (=Y (vE*T)
€7 e *7'//'-7/ ‘fq

t— ¥4 Vel — 44 g
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12. If lim f(x)=Land lim fx)=M, where L and M are finite real numbers, then what must be true about L and M in order

+*

x—a~ X—a
for iim f(x) to exist?
X—a

Choose the correct answer below.

LA L=

O B. L#M
(OC. L>M
D, L<M
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13. Use the graph to find the following limits pv

and funclion value, |

a. lim f(x) +
x=3" % / ‘

b. lim f(x) s e l/
e EMIETCY i

c. lim f(x) 2-
x~3 1

d. #(3)

a. Find the limil. Select the correct chaice below and fill in any answer boxes in your choice.,

% lim f(x}= B 3 __ (Type an integer.)

X-+3

O B. The limit does not exist,
b. Find the limit. Select the correct choice below and fill in any answer boxes in your choice.

L/j A lim fg= l (Type an integer.)
=3t

O B. The limit does not exist.
¢. Find the limit. Select the correct choice below and fill in any answer boxes in your chaice.

O A im fx)= _ (Type an integer.)

x=3

L&B. The limit does not exist,
d. Find the function value. Select the correct choice below and fill in any answer boxes in your choice.

O A, f3)= N *3"_ (Type an integer.)

(O B. The answer is undefined,

of 66 9.:6/2018. 4:31 PM ‘ ‘
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p Use the graph of f to complete parts {a} through (1). If a limit {a) Find f{1). Select the correct choice below, and fill in the
\ does not exist, explain why. answer box if necessary.

o =_D.r{ K1) = - ‘_/

8 {Type an integer or a fraction.)

7 1 B. The value of f(1) is undefined.

6

5 {b) Find lim f(x). Select the correct choice betow, and fill in
\4“ o

3 the answer box if necessary.

f- ° / “ @( lim fx)= I
. X=+1"

-1 1 2 i o4 5 {Type an integer or a fraction,}

(. B. The limit does not exist because {(x) is
not defined for all x < 1.

{c}Find lim f(x). Select the correct choice below, and fill in
x—1*
the answer hox if necessary.

A im fg= ‘
x=1*
{Type an integer or a fraction.)

) B. The limit does not exist because f(x) is
not defined for all x > 1.

(d) Find lim f(x). Select the correct choice below, and fill in the
x—1
answer box if necessary.

% lim f(x) = _ [

x=1
(Type an integer or 2 fraction.}
(" B. The limit does not exist because
lim f(x)# lim f{x).
x—=+1" x—=1%

(e) Find f(3). Select the correct choice below, and fill in the
answer box if necessary.

‘?J/A- (3= f

{Type an integer or a fraction.)
"3 B. The value of f(3) is undefined.

{f) Find lim f{x). Select the correct choice below, and fili in
X3~
the answer box if necessary.

'-/A lim f(x)= f .

x—37
{Type an integer or a fraction.)

! B. The limit does not exist because f(x) is
not defined for all x< 3,

of 66 96'2018, 4:31 PM
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15.

. ) x2+9x+14 ) . x2+9x+14
xplain why lim —-)(-T = lim (x+7), and then evaluate lim T
X=—=2 X=>=2 X =2 (/
Choose the correct answer below.

() A. Since each limit approaches -2, it follows that the limits are equal.

8. x2+9x+14 .
The numerator of the expression T xt3 simplifies to x + 7 for all x, so the limits are
G/etiua=|l.
ot %%+ 9x + 14 ) .
Since -—x+—2—— =x+7 whenever x# ~ 2_ it follows that the two expressions evaluate to
the same number as x approaches -2,
QO D. . x2+9x+14 )
The limits  lim and lim (x+7) equal the same number when evaluated

+
X=>=2 X+2 X—-2

using direct substitution.

" Now evaluate the limit,

X2 +gx+14 el
lim —;‘-_—2—- = (Simplify your answer.)

X= =2

16.

Determine the following limit.

lim ox?
X— — o

lim ox'?=[ " As T

X=+ = o

17.

Determine the following limit,
lim x~%7
X=r

lim x ™% = @)

X—+ 00

if 66

96/2018.4:31 PM
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27. Complete the following sentences,
{a) A function is continuous from the left at a if .
{b) A function is continuous from the right at a if .
|
(a) A function is continuous from the leftataif (1) |

{b} A function is continuous from the right at a if (2) 'L__._.___J.

(1 O lim f{x)= -f(a) (2) lim f{x)=f(a)
x—-‘a+ X"’a+
O tim f(x)=fa) O lim f(x)= -f(a)
x—a" x—a’
\46 lim f(x) = f(a) O lim fx)y=f(a)
x—a x—a
O  lim f{x)= ~fa) QO lim f{x)= - Ka)
x—a x—a

28, Determine whether the following function is continuous at a, Use the continuity checklist to justify your answer.

2x2+7x+3

x2+5x

f(x) = ,a= -5

Select all that apply.

[ A. The function is continuous ata= - 5.
E’i The function is not continuous at a= - 5 because f( - 5) is undefined.
. The function is not continuous at a= - 5 because lim f(x) does not exist.

X— =5

B’{ The function is not continuous at a= - 5 because lim  {x) # f{ - 5).

Xob =5

29. Determine whether the following function is continuous at a. Use the continuity checklist to justify your answer,

2
X -100 a1

fix)= x=10 ;a=10
7 ifx=10

Select all that apply.

] A. The function is continuous ata = 10.
(] B. The function is not continuous at a = 10 because f(10) is undefined.
[J €. The function is not continuous at a = 10 because lim f(x} does not exist.

x—10
E{. The function is not continuous at a = 10 because lim f{x) #f(10).
x—10

Jof 66 9/6/2018, 4:31 PM
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37. Match the graph of the function on the right with the graph of its derivative.
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: d
For some equations, such as x2 + y2 =lorx- y2 =1, it is possible to solve for y and then calculate a% Evenin these

cases, explain why implicit differentiation is usually a more efficient method for calculating the derivative.

Choaose the correct answer below.

dy
(O A. Because it produces i in terms of y only.

() B, Because implicit differentiation gives two or more derivatives.

d
{0 C. Because it produces % in terms of x only.

@’{ Because implicit differentiation gives a single unified derivative.







@ C%/Cw(le {1 “ S

d X

/M///Cc-l

"

Sin(y) +7 = XK
Cué(j)* %{ + 0 = |







@@MSC /Hﬂ/ng,‘. c{,/éfﬁ,ﬁ‘-/glw\ Ao /[..:// %Ll

<.
5(:/(—-._ /d’_'%

(D 'ﬁ"‘/{ ”L{/f 5(.))44 %%Q Cowme. ot ~4L,4
3 n
Y9'=2 SN I

%
(a 2 |
X +399 QP




@ U 5Se /&-.//fcrl,c c:f/-é/-«.,—/lq-lu& %,/L_// %_Z

L
sra(9) 5/“75():5'7
Caf/7},7/—f-@5§<)ﬂ/___ 5_7/

/

7(Con/—f Cos(x) = 5
( Y P A T Y |
)+ Cot) =7 3y) = SY = yeosfy)

Cosg) = 597~ 9! o5y

CJS&Z/t 7’/5“—*—-—— 605(9))




7

Cga(/‘ﬂ/ SSX—r 7Y

sy (xg)'= 5T 77"
tes(Ra)(1cy)+ x9') = 57 777
Feospey1+xq') = 57 59/

4“"5@/ 7t 4‘@5(5(0)(«7/: i Sras 9’7 /
7 (05/@ g T (fCug(KyX(] [ 7(05@“’;: Sp‘fﬁ/"%vf(w
Yeos (xy)xy = ¢, 77’ ~ ¢ s ity) 4
o ) -
Fc 5/(”y/<y ~ =5~ 7")7(9605(/q/7 _7/7/
4/(05/(‘7 )(b/__‘ 2 |
/ / / '77 = § - 9(0;%/‘,}/7
7 ( ? (Oj()(‘y X — G}) [N §‘-——§/Cajp(«7)7
[
(7 (?CUS X/“y )(f-—~ 9 ) = $ — §‘j Cus()(u,/
1'(Feospeyx—3] = S=acuxy
*— . :ei-— (?fc_o>é(:4j)(,_ q)
L ST— 49 CO5(Xy ) o,
%# X (os(X) —9







(e’
((
X —+5 (,:“ ///(7

BZX~r-/17 7 = (11 (9) //»((‘7)) ny -
>ix fr/zyj = /19 —f//)(7 '

7 ST
5LX "“/277“—/2 7= /Y —f//)(y/__/z«737/

3
= (
32/< //7—;&/»{7 —j297%5 7

3
3ix"— 11y ?_fm/7/“/27)7 -y

-2
2 =119 = /Xy~ )y

PR /
20—/ = 9 (i x—1257)
32x /1Yy

///X__:/g?)-




L o7y 130

30)(%—/— >5Y 7 < (/5(7/74 /3x(9' )
Jox " rf?ry 7 p- /37—% {3)(7

Sux "f‘}/f/?_-sfyy oy /}77{_/3)(//__35_7?7/
ZO)((( = /37+/3/7/—55—797/
Sox’ T /?7 :._,/ff/ﬁ)y/._ 35—75 /_}%__
. / Yy
__BUX(L/Zj = /3x7 =359
| /
‘30)((1/37': / (/JX-———Zs-\j?)

’”3')’7‘7































@(/ - 5/%%/ /4/}“‘4
Y S/:—)ﬁk{(/

y'! )
WVii=xr 7 E rr
7 e o
g!- [ — (%)¢
(" |
—/ -
\7 — {Qv\ /)(/ \j joxs {6\4 ,/ /(/S(/)
L) / £
¢

s .
| + Fe) ©










S T

@ /47/ <~ CO ég/ 7-237:) = Coé"/véi)
/ S/ 7!_: _ /éq
- - L I

> ra

/ [ —f (;z_;c ) S
%ﬁ/: _ 3 (‘74«‘0 /
I+t (5ez)

/ [T (5o
. A,
v/ -
/ (1 (God)* 5‘_2_27‘704
6 g
//y - T(ﬂ;@ifﬁzw
_yé
Vil 69
/C%' (7o’ . 3T
f%/:@aw%zwﬁ







82. The sides of a square increase in length at a rate of 3 m/sec.

a. At what rate is the area of the square changing when the sides are 12 m long?
b. At what rate is the area of the square changing when the sides are 20 m long?

a. Write an equation relating the area of a square, A, and the side length of the square, s.

? — If.{

j "
Differentiate both sides of the equation with respect to t.

A 7 Z
“ g4 ® == ,z(’s)(m) E5%

dt dt

The area of the square is changing at a rate of Z Z ) (1 M when the sides are 12 m fong.

Pa
b. The area of the square is changing at a rate o&[ / Z (2) when the sides are 20 m long

M Om @ mde tlf‘l - 2(3) (2> /
Q./mzls (Q/mzls 4 )

O mis O m s’
O m’/s O mis
83. Delermine from the graph whether the function has any absalute extreme values an y
fa, b).

L A

Where da the absolute extreme values of the function accur on [a, b]?

() A. There is no absolute maximum and there is no absolute minimum on [a, b].
() B. There is no absolute maximum and the absolute minimum occurs at x=2a on [2. b].
(D) €. The absolute maximum occurs at x=d and there is no absolute minimum on [a, b].
. The absolute maximum occurs at x = d and the absolute minimum occurs at x=a on {a, b].
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93.

Sketch a funclion that is continuous on (= co,o0) and has the following properties. Use a number line to summarize
information ahout the function.

f{x}>0on (=co,~2);f'(x)<0on(-23). f{x}>0 on (3,00).

Which number line summarizes the information about the function?

fix)>0 f(x}<0 Ex) ES I'(x}<0 I"{x)>0 r‘(xr(
7y A Rt
. =10 : 1] 10 O . ~10

0 10
f(x}<0 f(x} >0 f(x}<0 ./' '(x)>0 f'(x)<0 f(x)><¢
oc -10 o 10 oD -0 o 10

Which of the following graphs matches the description of the given properiies?

) B. ic, 3 D.
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g8.

Fill in the blanks: The goal of an optimization problem is to find the maximum or minimum value of the function
subject to the

The goal of an optimization problem is to find the maximum or minimum value of the (1) (_— function subject
to the (2)

(1) ) optimization function {2} O exireme values.
i) constraint function | ints.

(7 subjective function ) vanables.
Bf objective funttion ) optimizations.
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106. Use a calculator or program to compute the first 10 iterations of Newton's method when they are applied to the following
function with the given initial approxg_njglion.—'a\

f)=x% - 18; x5 = 5 CKC//"}Z’,/ )(I {‘Xo— /[Yo!

£t
Kk Xk k Xk
0 | §.0evess | 6 Y2t/ )(I-,- ¢ — /(f)
1 |%2YE v 7 |y 2v2ey/ ///S")
2 (& 36060 s [, 2y v/
s Fi2y2e( o [ A-27267/ }(l’ c— 14y
4 (4. 2¢3023 0 (Y 1426/ B
JUNTAT N = S porer”

{Round to six decirnal places as needed.)

107. Use a calculator or program to compute the first 10 iterations of Newton's methed for the given function and initial

approximation. —
f(x)=25|HX"'5x—3. x0=1.3 % 2 (ruj(/() _—_'S:___,_,_-_,_,_o-r""—)

Complete the table.
{Do not round untit the final answer. Then round to six decimal places as needed.)

k Xk k Xy

1 [=0:39c05Yy 6 —O-9176)77

2 —0,907677 | 7 ~0: 94176177
3 ~0e Y6 2371 8 —a4116'7)
4 ~0r5/167]7 9 —0-9)76 7 D
5 To-9/8128 10 —019/767)

_ fe)

- X YRR
“=Ae T
)(I = /;3 —_ )[(" 5/
1l 5)
)(’ _ /‘ 7 — __Z)’f-b(/oB)-—j"(/.})—g
2 cos(1.3) — §

&Yl = "0.3760 5”7\
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122. Suppose an object moves along a line at 12 m/s for 0 <ts2sandat 17 mis for 2<t<5 s. Skelch the graph of the
velocity function and find the displacement of the object for 0 st<5.

Sketch the graph of the velocity function. Choose the correct graph-below. /

O
=

O A O B.

15 a0

o—ae

Velocily (mis)
[
0 <
YRR

Velocily (mfs)
Velocily (mfs)
<
Ll_t_l—)
Velocity (mfs)

0 o
0 5t 0 5t
Time (s} Time (8} Time (s) Time (5}

The displacement of the object for 0st<§is I:_m m. (Simplify your answer.)

-

36 of 66 9/6/2018, 4:31 PM
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123.
Approximate the area of the region bounded by the graph In which graph below are the selected points the right

of f(x) (shown below) and the x-axis by dividing the interval  endpoints of the 4 approximating rectangles?
{0.4] into n = 4 subintervals. Use a right and left Riemann

sum lo obtain two different approximations. Draw the 3 A. ) B.
approximating rectangles. B -

jw 8
G
8- 4
2 PPN
0
5 02468
OD
4 y
&
2+ ;
A [
, o N,
=T i 02468 02468

Using the specified rectangles, approximate the area.

In which graph below are the selected points the left
endpoints of the 4 approximating rectangles?

) A B
Y y
B B
4 \YJ 4
2 ix 2 = x
O 0
0 2468 0 24 68
M QD
Y ¥
8- 8
6 6
4 \7 !
2 ‘ 2 HEN
el‘i'l Yo 0 >
‘0 2468 0 24628

Using the specified rectangles, approximate the area.

37 of 66 9:6/2018, 4:31 PM



124, Does the right Riemann sum underestimate or overestimate the area of the region under the graph of a positive
decreasing function? Explain.

Choose the correct answer below.
m:erestimate; the rectangles all fit under the curve.
i} B. Overestimate, the rectangles all fit under the curve,

{7 €. Underestimate, the rectangles do not fit under the curve.
() D. Overestimate, the rectangles do not fit under the curve.

125. The fallowing funclion is negative on the given interval.
3,
f(x)= ~5-x",[3,7}

a. Sketch the function on the given interval.

b. Approximate the net area bounded by the graph of f and the x-axis on the interval using a leR, right, and midpoint
Riemann sum with n=4,

a. Choose the correct graph below.

R\

b -

iy

o

e

)

O

v

-36 -360 24

b. The approximate net area using a left Riemann sum is [ - %5 L .
(Type an integer or a decimal.}

The approximate net area using a midpoint Riemann sum is! — E"‘é .
(Type an integer or a decimal.)

The appraximate net area using a right Riemann sum isl — 2 éz .

{Type an integer or a dacimal.)
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127. b

X
d d
Evaluate a_l.f(t) dt and ax _[f(t) dt. where a and b are constants.

X

d

e If(t} dt=| &‘x‘ Z (Simplify your answer.)
]

b

d

. If{l) dt=, c 2 (Simplify your answer.)
a
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131. 34

Is x™" an even or odd function? Is sin (xa) an even or odd function?

Is x> an even or odd function?

@/odd function
even function
3 }
Is sin (x ) an even or odd function?

O even funclion
(Md function

132. On which derivative rule is the Substitution Rule based?
Choose the correct answer below.

{O A. The Product Rute
{0 B. _The Constant Mulliple Rule

{_) D. The Quotient Rule
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